N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

%] F 1% F %]
X F - X F <
g : 2 ol ]
20°F S10°F s
E g f g
i E G102
10%F 1 =
E =]
C =
10°F 10°
F 10
10%F 10?
10F 10
t il
1
1 Ibase
CKF_TT retrainOldFiles125 v2 prelimWP_epoch4
v v [o v v 0 |2 g [o B!
sk b o8f- Hia
: : . 0.95F
fpie 0.6F e R SOt 1 1 o | o et Do Do
0 15 20 25 -25-20-15-10-5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25 O'—25—20—15—10 -5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
L 2
g g
=1 =
() Q
S 5
= ke
' 5
© 10

T R TP

Ratio

Ll 0.g!

20 30 20 30 =30 0 10 20 30 10 20 30
track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


